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struct point {

int x; [* 8O x £EH ¥/
int y; 82y &H ¥/

}; /* point ol HAS ¥

point FirstPoint, SecondPoint;
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struct Line {

point p1;

point p2;
b

Line line;
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point Polygon[n];
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int Intersection (line AB, line CD) {
/| 4% AB,CD: WX HEHE NS F &2
//ZE3 1 AB, CDJI M2 W Xtot® TRUE, OtLI & FALSE.

int LineCrossing;

if ( (Direction (AB.A, AB.B, CD.C) =
Direction (AB.A, AB.B, CD.D) <=0) &&
(Direction (CD.C, CD.D, AB.A) *
Direction (CD.C, CD.D, AB.B) <=0) )
LineCrossing = TRUE;

else LineCrossing = FALSE;

return LineCrossing;

}
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int Direction (point A, point B, point C) {
[/2E AB,C: Nl B2 &E
//ZE2 :Dir: <8 6-4>0 X & gt
int dxAB, dxAC, dyAB, dyAC, Dir;
1 dxAB =B.x - A.x;
2 dyAB =B.y - Aly;
3 dxAC=C.x - A.x;
4 dyAC=Cy-Ax;
5 if (AXAB * dyAC < dyAB * dxAC) Dir=1; /* AlH 2&F */
6 if (dxAB * dyAC > dyAB * dxAC) Dir = —1; /* BtA[ Al */
7 if ((dxAB * dyAC ==dyAB » dxAQ)) {/* €& & */
8 if (dAxAB ==0 && dyAB ==0) Dir =0;
9 if ((dxAB *x dxAC<0) | | (dyAB * dyAC <0) ) Dir = -1,
10 else if ( (dxAB * dxAB + dyAB * dyAB) ) >=
(dxAC * dxAC + dyAC * dyAQ))
11 Dir = 0;
12 else Dir = 1;
13 }
14 return Dir;
)
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Float ComputeAngle (point A, point B) {
// o] a:I A B: C I—l
// 3 :Angle=Ty*90.0, = &= ABSt BRI H AxJt Ol R = &0 2 &,
// Angle®| 2t2 0.0~360.0A+01 0| Ct
int Dx, Dy;
float Angle;
1 Dx=Bx-Ax;
2 Dy=By-Ay;
3  if ((Dx>=0) && (Dy ==0) ) Angle =0; [* Ax&f Ol A= E*/
4  else {
5 Angle = abs (Dy) / (abs (Dx) + abs (Dy) ); [* TAH2EHS & */
6 if ((Dx <0) && (Dy >=0) ) Angle = 2-Angle; [* 2AFE2H | F «/
7 else if ((Dx <=0) && (Dy <0) ) Angle =2+ Angle  /*3AI2&2 & «/
8 else if ( (Dx > 0) && (Dy <0) ) Angle =4 - Angle; [ ANEH F «/
9
10 return ( Angle *90.0);
} 82 4l 2= +ote 211clS
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int IsPointinside ( point A, point P[], intn) {
[ A: &, PlO:n]: 02", n: G2 BXE2 ==
JtE . Pln] =P[n]OICt. & A= CHAE 2l ZXIEO| OtLICH.  P[0].y + ALy
=< TRUE: 80| CH2AE 2 LHR 0 JAAL G o & 20 JA= [
FALSE : #0| Ct2 &2 2/ 20l A= W */
int Count, i, LastPoint;
line TestLine, PolygonLine;
int PointOnTestLine;
1 Count = LastPoint = 0; PointOnTestLine = FALSE;
2 TestLine.p1 =A; TestLine.p2 = A; Testline.p2.x = MAXINT,;
3 for(i=1; i<=n; i++) {
4 PolygonLine.p1 = PolygonLine.p2 = PJi];
5 if (Intersection (TestLine, PolygonLine) )
6 pointOnTestLine = TRUE;
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7 else {

polygonLine.p2 = P[LastPoint];
9 LastPoint = i;

if ('PointOnTestLine ) {
11 if (Intersection (PolygonLine, TestLine) );
12 Count++;
13 } else {
14 if (Direction (TestLine.p1, TestLine.p2, PolygonLine.p1) *
15 Direction (TestLine.p1, TestLine.p2, PolygonLine.p2) < 0)
16 Count++;
17 PointOnTestLine = FALSE;
18 }
19 }
20 }//end of for
21 return( (Count mod 2) ==1);

}
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int PointWrapping (struct point P[], int n) {
[ n: EEEUE O o=
P[0:n] :nJH2 E2P[0] Pln-1]01 MEZAH US.
£2 :P[0: NumVertex - 1]0ll 28 A& BAHSO0| =MUHZ HEE. »/

int i, NumVertex

float MinAngle, MaxAngle, Angle;

int FirstPoint, NextPoint;
1  FirstPoint = 0;
2 for(i=1; i<n; it+) /== A& HM BXE I +/
3 if (P[i].y < P[FirstPoint].y) FristPoint = i;
4  NumVertex = —1;
5 P[n] = P[FirstPoint]; [* R BAE2 SAMAZEPn]0l H& */
6 MaxAngle = 0.0;
7 NextPoint = FirstPoint; -
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8 do{ [*US BXNEE = FE +/
9 NumVertex++; /[ OIS BANE2 HHEQ FECZ LU= */
10 Swap (&P[NumVertex], &P[NextPoint]);
11 NextPoint = n
12 MinAngle = MaxAngle;
13 MaxAngle = 360.0;
14 for (i=NumVertex +1; i <=n; i++) {
15 Angle = ComputeAngle (P[NumVertex], P[i])
16 if (Angle > MinAngle && Angle < MaxAngle ) {
17 NextPoint = i;
18 MaxAngle = Angle;
19 }
20 }
21  } while (NextPoint == n)
22  return NumVertex;
Al 37 o} = I
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int GrahamScan (struct point P[ ], intn) {

[« 92 :n: BEE Wel Fol 2, Pl0:n]:ndHel H2Pl1] - Plnloll HEE 0l US.
=2 :P[1: NextPoint] 0 25 HE| BIFES0| £ M2 HEE. »/

int i, FirstPoint, NextPoint ;
FirstPoint =1,

for (i=2; i<=n; i++) [ yEEHIL F A0 H I «/
if (P[i].y < P[FirstPoint].y) FirstPoint = i;
for (i=1; i<n; it+) [* x, yREIFE A H ZI| #/

if (P[I].y == P[FirstPoint].y && P[i].x > P[FirstPoint].x) FirstPoint = i;
Swap (&P [FirstPoint], &P[1]);

FindSimplePolygon (P, n); [x S Th=2re 6] +/

P[0] =pln];

NextPoint = 3;

for (i=4; i<=n; i++) | [ 25 HE2 BXNEHO0I E == 8l= & MH «/

while (Direction (P[NextPoint - 1], P[NextPoint], p[i]) >= 0)
NextPoint—— ;
NextPoint++;
Swap (&P[NextPoint], &P[i]);
}

return NextPoint ; [x 22 HEO| BT HO =5 2P #/
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